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Plot[g[x].,{x,-10,10},PlotRange -»{-0.5,1.5}] 4 1
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Table[g[x],{x,-0.5,0.5,0.04}]
{0.880797 , 0.897882 , 0.915363 , 0.932867 , 0.949845 , 0.965555 ,
0.979085 , 0.989496 , 0.996149 , 0.99921 , 0.999955 , 1., 1., 1.92875 x 10 %,
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Mathematica

Mathematica

Limit[g[x],x-0,Direction -1]
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Plot[taylorsin[5,x],{x,-3Pi,3Pi},
PlotRange - {-3,3},AspectRatio- Automatic]
sin 4
Plot[Append[Table[taylorsin[k,x],{k,1,7}],Sin[x]]//Evaluate,

{x,-3Pi,3Pi},PlotRange - {-3,3},AspectRatio- Automatic]
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PlotRange - {-3,3},AspectRatio- Automatic],{k,1,7,2}]
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Series[Sin[x],{x,0,11}]
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[x_.n_]
[x_,n_]:=Series[Sin[x],{x,0,n}]//Normal
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Plot[Table[s[n,x],{n,1,10}]//Evaluate,{x,-3Pi,3Pi},
PlotRange - {-3,3}, AspectRatio-Automatic]

3 -

4.2

421

x*+3=0 x*=-3



i iZ=-1 34 2i a,b a+bi

[ a+bi [

a+bi

a+bi

4.2.2

( Mathematica)

Z=r¢€

4.2.3
€y e



2004 )
(2

f(x)=f(0)+f (O)x+ f"(O)x +3 f"(0)x° +4 f @ 0)x* +5 f®0)x° +-

f(x)=a, +ax+ax’ +ax>+a,x" +ax’ +--
Mathematica
Series[ [x],{x,0,10}]
(Shift+Enter)
(3) e*
f(x)=¢ () =e*, (e")" =¢", ()" =¢*, ()@ =¢*,
f(0)=f'(0)=f"(0)=f"(0)=f®(0)=---=¢e"=1
eX=1+x+%x2+%x3+%x4+éx5+m
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